
Philadelphia University
 
Faculty of Engineering
 

Dept. of Computer Engineering
First

Course Title: Advanced Programming Language
Course No: 630501 
Lecturer: Dr. Qadri Hamarsheh

 
Information for candidates  

1. This Quiz paper contains 1 question totaling 
2. The marks for parts of question are shown in round brackets.

Advices to candidates 
1. You should attempt all sub questions
2. You should write your answers clearly

 
Question 1  Multiple Choice  
Identify the choice that best completes the statement or answers the question
 

1) All the following WML elements are tasks available within events in WML language except:

a) <noop >  b) <refresh> 

 

2) All the following WML elements are

a) <a>   b) <anchor> 

 

3) How many octets (tokens), the WSP representation will contain for the accept header:

Accept: text/plain, text/ vnd.wap.wml

a) 57   b) 2

 

4) The Capability Negotiation Process is the responsibility of 

a) WTP   b) WTLS

 

5) The protocol that enhances some f the WWW standard to reflect some of the telephony networks

characteristics is called ---------- 

a) WTP   b) WTLS
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You should write your answers clearly. 

       
Identify the choice that best completes the statement or answers the question 

All the following WML elements are tasks available within events in WML language except:

b) <refresh>   c) <CreateKey >

elements are used in Navigation except: 

b) <anchor>   c) <go>  

How many octets (tokens), the WSP representation will contain for the accept header:

Accept: text/plain, text/ vnd.wap.wml,  text/vnd.wap.wmlscript

b) 2    c) 3   

The Capability Negotiation Process is the responsibility of ---------- 

b) WTLS   c) WSP  

The protocol that enhances some f the WWW standard to reflect some of the telephony networks

 

b) WTLS   c) WDP  

 
GOOD LUCK 
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 (5 marks) 

All the following WML elements are tasks available within events in WML language except: 

c) <CreateKey > d) <go> 

 d) <do> 

How many octets (tokens), the WSP representation will contain for the accept header: 

,  text/vnd.wap.wmlscript 

 d) 4  

 d) WAE  

The protocol that enhances some f the WWW standard to reflect some of the telephony networks 

 d) WAE  


